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| 298,283 298,283 0
(= 4,828 52,128 42,700
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CH 2,700,000 2,700,000 0
Zstoi= ds 6,299,016 5,971,336 327,680
= 9,906 9,906 0
s 408,000 408,000 0
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= 2,820,699 2,513,019 307,680
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01 At2teltl 31,180 24,180 7,000
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01 AlZHI 0 540,000 540,000
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== 10,000 0 10,000
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O dESA QEXHLE | - 22l ZHl 2
2 50,000,000 50,000 0 50,000
e SN 14,048,592 10,626,592 3,422,000
= 22,000 0 22,000
J| 30,000 30,000 0
= 3,497,480 2,236,580 1,260,900
= 10,499,112 8,360,012 2,139,100
22A XS 5,217,808 4,457,808 760,000
= 22,000 0 22,000
| 30,000 30,000 0
= 114,480 53,580 60,900
i 5,051,328 4,374,228 677,100
g8 ¥ == 2,644,800 2,344,800 300,000
201 L2 | 390,000 240,000 150,000
03 ALZ | 350,000 200,000 150,000
O Hiesl g HE ==H 29
350,000,000& 350,000 200,000 150,000
307 QI2HO| M 1,850,000 1,700,000 150,000
04 CIZISHAIAIRIE & 1,850,000 1,700,000 150,000
O Mzl 248 25 =01 23
1,850,000,000& 1,850,000 1,700,000 150,000
Fot2AHEA 29 183,500 113,500 70,000
301 LEtBEF 168,500 98,500 70,000
14 J|Et2 43 157,300 87,300 70,000
O ZstZoidAt &=l
150,000,000& 150,000 80,000 70,000
OHSLOl EHAL 50,000 0 50,000
201 B2 AL| 50,000 0 50,000
03 &At2GH| 50,000 0 50,000
O 20244 oiSt0| AL 2
50,000,000& 50,000 0 50,000
T2taE A 13,500 0 13,500
307 QI2Hol M 13,500 0 13,500
04 QIZHHAIAIRIE & 13,500 0 13,500
O 2023 Hztat AT 23
13,500,000& 13,500 0 13,500
AE0AM & & OEGHII(&HI) 45,000 25,000 20,000
= 7,500 9,000 A1,500
= 37,500 16,000 21,500
301 LetENEZ 45,000 25,000 20,000
= 7,500 9,000 21,500
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L= 2,400 6,000 A3,600
= 5,600 14,000 8,400
201 er2 3| 8,000 20,000 ~12,000
& 2,400 6,000 A3,600
s 5,600 14,000 18,400
03 A= 8,000 20,000 ~12,000
O dg Zs0plE s
8,000,000& 12} 8,000 20,000 ~12,000
[ 2,400 6,000 A3,600
i 5,600 14,000 28,400
=ZAIE JEd ¥ 135,000 75,000 60,000
201 Ler23 | 65,000 55,000 10,000
03 A=Y 20,000 10,000 10,000
O SZAIE FUZA &2d W=
10,000, 000& x22] 20,000 10,000 10,000
401 AIEHIZL 20 70,000 20,000 50,000
01 Al&HI 70,000 20,000 50,000
O sZ2AIE dExg=E X L AIE= 2el
50,000,000 50,000 0 50,000
detg s 0HolA JIgt |4 XIRAAIY 20,000 0 20,000
[ 6,000 0 6,000
= 14,000 0 14,000
402 2I2F X201 & 20,000 0 20,000
< 6,000 0 6,000
= 14,000 0 14,000
02 RIENZASEZ (01 THR) 20,000 0 20,000
O MICE A& X1 20,000,000 20,000 0 20,000
S 6,000 0 6,000
a 14,000 0 14,000
SRS g 22 HE A 200,000 0 200,000
[ 60,000 0 60,000
i 140,000 0 140,000
401 AIZHIY 20 200,000 0 200,000
[ 60,000 0 60,000
= 140,000 0 140,000
01 AlZH| 200,000 0 200,000
O 2ZAXE flgt 2Zatd e
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=S 60,000 0 60,000
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i 16,500 0 16,500
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= 22,000 0 22,000
= 16,500 0 16,500
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= 22,000 0 22,000
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401 AIZHIY 20 410,000 175,000 235,000
01 Al&H| 410,000 175,000 235,000
O Bdd 40212 SEHEHE =8 89
100,000,000 100,000 0 100,000
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i 200,000 0 200,000
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[ 200,000 0 200,000
= 200,000 0 200,000
01 AlZH| 400,000 0 400,000
O SUEH= SMZSHE HE AL
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=S 200,000 0 200,000
= 200,000 0 200,000
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[ 1,000,000 0 1,000,000
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< 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000
01 AlZHI 2,000,000 0 2,000,000
O RUEX7 ==2F X HAA
2,000,000,000& 2,000,000 0 2,000,000
< 1,000,000 0 1,000,000
o 1,000,000 0 1,000,000
20222 9%1,914 751,54 200,320
2l 130,324 175,112 N44,788
= 821,590 576,482 245,108
Z0lz2 29 951,914 751,594 200,320
Jl 130,324 175,112 N44,788
= 821,590 576,482 245,108
E0z2 2E20el 279,274 199,274 80,000
201 fer=3| 210,214 180,214 30,000
2 S22l 190, 154 160, 154 30,000
O 332= % HA 5,000,000 ~6& 30,000 0 30,000
307 2Itold 50,000 0 50,000
02 B HAHE L 50,000 0 50,000
O ggdEE 2=0l=H IHal
50,000,000 50,000 0 50,000
SPIHFIX Y w2 29 276,100 188,600 87,500
201 eer23y| 272,500 185,000 87,500
03 A2 HHI 272,500 185,000 87,500
O XtHl D183 170,000 125,000 45,000
- U3oIe 2ME € RAE 3¢ 29
125,000,000& 12 125,000 80,000 45,000
O 39 2 NneZ2)3 E88 M
2,500,000& 113 27,500 10,000 17,500
O SoFAFHUSENIAMNY 23
25,000,000& 12 25,000 0 25,000
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) 0 12,000 A 12,000
= 0 9,000 29,000
201 LEeH2 | 0 21,000 21,000
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) 0 12,000 12,000
= 0 9,000 29,000
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) 0 21,000 £21,000
201 Ler23| 0 21,000 ~21,000
) 0 21,000 21,000
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pJ 0 21,000 21,000
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= 500,000 500,000 0
= 761,817 508,717 253,100
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= 500,000 500,000 0
= 761,817 508,717 253,100
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M IRNZZ2NSE S 33,600 0 33,600
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01 At22t2lt] 15,000 0 15,000
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17,500,000 17,500 17,500
03 A2 I 5,000 5,000
O & OZI0IME D2t D2t
5,000,000 5,000 0 5,000
207 AR 22,000 22,000
02 AN 22,000 22,000
O Zgd olgloldeg st 0K 5
22,000,000 22,000 0 22,000
401 AlEBIYL S THYI 150,000 150,000
01 AlZHI 150,000 150,000
O AIR4A =4, 224, 22 e, 2t
XEE, XY, =34 S
150,000,000 150,000 150,000
405 THHF S 10,000 10,000
01 Tt =S F=H 10,000 10,000
O ZAD], SIIFEED], My, AL S
10,000,000 10,000 0 10,000
A2 3H(2a22 1) 136,576 133,076 3,500
=38l 136,576 133,076 3,500
Jl23Hl/2ZHe 17,400 13,900 3,500
202 Ot 9,500 6,000 3,500
01 =LH0d 9,500 6,000 3,500
O 23 2= 04|
9,500,000 9,500 6,000 3,500
Hees (2322 45,199 33,645 11,554
SN 45,199 33,645 11,554
SHXE(H301EH 45,199 33,645 11,554
802 grat=JIEt 45,199 33,645 11,554
02 Al - EHIEZ=S3BHEZ 14,582 3,028 11,554
O 20218 AMIBSNHR L2 WE OIk
1,890 2 0 2
O 20224 AN E=20s 0Ik
3,970& 4 0 4
O 2022 AZ2Estd 238 XIFAE oIkt
2,320 3 0 3
O 20224 AHYE ZS0PHE 28 K3 A(
pyES=y) 543,910 544 0 544
O 2022d 2t 42 =4l Ol
4,820 5 0 5
O 202 0N & & 0{&lo})
1,562,344 1,563 0 1,563
O 20228 Z=0llA 8 & OI~&atI| Okt
15,510 16 0 16
O 2024 Hetde 22FAHE A0
S NS 8,400,000 8,400 0 8,400




2A:
X XH -
o e

=aak

B G(EH) - NIRAY - BAS
O 2022 FMetd e 225 g =0 X
ALY Ol Xt 25,130& 26 26
O 20208 2t X YA=ZEHAl JHE XIE A
e 516,830& 517 517
O 20218 2+& X YA-SEHA HE X A
377,510& 378 378
O 20208 2& X HA=ZEHAl JHE XI& A
A Okt 42 560 43 43
O 20218 22X YA=ZEHM HEXIE A
52,830& 53 53
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